[image: image1.png]6. A fiiend in finance shows you the following two figures (see below). He asks you few facts about

them. S represents the safe asset. M represe

s the macket portfolio
(2) What s the name of the line segment between S and M in Figure 17

(b) What is the name of the line between S and M in figure 27

(¢) How can one achieve a portfolio with the characteristics of point B in Figure 17

(d) Poiat X and Point X’ are meant to represent common stock of ABC. In Figure 1 ABC appears
to be riskier than the maket portfolio. In Figure 2 it seems to be safer. Is there something wrong with

the two figures? If o, explain why ABC cannot appear as shown. Ifi is possible that the two figuses

are correct, explain what must be true about ABC to cause its representation to be in sucha different

Iocation in the two graphs.
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